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Presbyopia can be corrected by
A.
B
C.
D. Cylindrical

Convex

— 0
Concave de evmcf\'o/? A

Bi-focal \ Md"f”“
/’er

lens.
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Presbyopia can be corrected by lens.

A. Convex
B. Concave
C. Bi-focal
D. Cylindrical

[@i=]
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EXAMS

The part of the human eye on which
the image is formed is

(a) pupil
(b) cornea
(c) retina

(d) iris
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EXAMS

The part of the human eye on which

| _ _ Answer: (C
the image is formed is ©

() pupil
(b) cornea

(c) retina )
Refina

(d) iris
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A prism causes

A.

B
C.
D

Only Dispersion
Only Deviation

Both Dispersion and Deviation /

. Neither Dispersion nor Deviation

< - O )
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A prism causes

A.

B
C.
D

Only Dispersion
Only Deviation
Both Dispersion and Deviation

Neither Dispersion nor Deviation

EXAMS
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Identify the correct statement(s),
1) Iris controls the size of the pupil. v/
2) Pupil controls the size of the Iris. X
3) The Eye-lens forms an inverted real image of the object. /
4) Pupil controls the amount of light entering the eye. v/
1,2and 4

A

B. 1,3and4 v
C. 1and4

D

2,3and4
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Identify the correct statement(s),
1) Iris controls the size of the pupil.
2) Pupil controls the size of the Iris.
3) The Eye-lens forms an inverted real image of the object.
4) Pupil controls the amount of light entering the eye.
1,2and 4

A

B. 1,3and4
C. 1and4
D

2,3and4
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How many times does a ray of light bend on passing through a prism ?

A. Once
B. Twice
C. Thrice
D

. Four Times

e 1
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How many times does a ray of light bend on passing through a prism ?

A. Once
B. Twice
C. Thrice
D

Four Times
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EXAMS

Light enters the eye through a thin
membrane called

(a) retina
(b) cornea
(c) pupil
(d) iris
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EXAMS

Light enters the eye through a thin
membrane called

(a) retina
(b) cornea
(c) pupil
(d) iris

Answer: (B)



NDA & CDS 1 2025 LIVE - PHYSICS - CLASS 4

EXAMS

Which of the following are the primary colours
of light ?

(a) Yellow, Red and Green
(b)  Blue, Red and Green

(¢c) Violet, Red and Yellow
(d) Indigo, Violet and Green
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EXAMS

Which of the following are the primary colours
of light ?

(a) Yellow, Red and Green
(b)  Blue, Red and Green

(¢c) Violet, Red and Yellow
(d) Indigo, Violet and Green

Answer: (B)
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During the formation of rainbow , dispersion of sunlight is done by

A. Tiny Air molecules

Dust Particles of Atmosphere

B
C. Tiny Droplets of Rain Water Suspended in Air
D. Air and Water. \

als (ke  smoll f)rfs‘m/
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During the formation of rainbow , dispersion of sunlight is done by

A. Tiny Air molecules
Dust Particles of Atmosphere

B
C. Tiny Droplets of Rain Water Suspended in Air
D. Air and Water.



NDA & CDS 1 2025 LIVE - PHYSICS - CLASS 4

Which one of the following figures correctly

shows the path of a ray of light through a

glass prism ?

(a)

(b)

(c)

(d)

ML

] fime Lendi% is hof ﬂaffenfrd,
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EXAMS

Which one of the following figures correctly
shows the path of a ray of light through a

glass prism ? Answer: (A)

(a)

(b)

(c)

(d)

MR
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EXAMS

A glass prism splits white light into different
colours. This phenomenon is called dispersion
of light by prism. Which one of the following

statements 1s correct ?

(a) Red light will deviate the most and it is
because of the reflection of light. A

(b)  Violet light will deviate the most and it

is because of the refraction of light.

R
0
;
(¢)  Red light will deviate the most and it is B
/
because of the refraction of light. : @

(d) Violet light will deviate the most and it
is because of the reflection of light.
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A glass prism splits white light into different
colours. This phenomenon is called dispersion
of light by prism. Which one of the following
statements is correct ?

(a) Red light will deviate the most and it is
because of the reflection of light.

(b)  Violet light will deviate the most and it
is because of the refraction of light.

(¢)  Red light will deviate the most and it is
because of the refraction of light.

(d) Violet light will deviate the most and it
is because of the reflection of light.

Answer: (B)

EXAMS
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A certain person has minimum distance of distinct vision of 150 cm. He

wants to read at a distance of 25 cm. What is the nature of the eye defect ?

A. Myopia
B. Hypermetropia o
vP PN - sighledness
C. Presbyopia v
D. Cataract
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A certain person has minimum distance of distinct vision of 150 cm. He

wants to read at a distance of 25 cm. What is the nature of the eye defect ?

A. Myopia

B. Hypermetropia
C. Presbyopia

D. Cataract
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Human eye can see objects at
different distances with contrasting
illuminations. This is due to

(a) far-sightedness
(b) near-sightedness

(c) far-sightedness and near-
sightedness

(d) accommodation of eye

EXAMS
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Human eye can see objects at
different distances with contrasting
illuminations. This is due to

(a) far-sightedness
(b) near-sightedness

(c) far-sightedness and near-
sightedness

(d) accommodation of eye

Answer: (D)

EXAMS
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Which colour of sky will appear to the pessengers flying at high altitudes,

A. Green
B. Orange
C. Blue

D. Black
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Which colour of sky will appear to the pessengers flying at high altitudes,

A. Green
B. Orange
C. Blue

D. Black
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EXAMS

Tyndall effect is a phenomenon of

(a) scattering of light by the colloidal
particles.

(b) refraction of light by the -colloidal
particles.

(c) dispersion of light by dust particles.
(d) refraction of light by dust particles.
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EXAMS

Tyndall effect is a phenomenon of

(a) scattering of light by the colloidal
particles.

(b) refraction of light by the -colloidal
particles.

(c) dispersion of light by dust particles.
(d) refraction of light by dust particles.

Answer: (A)
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The dispersion of light into its components by prism is due to
A. Each component gets deviated by the same angle of Refraction. A

B. Each component gets deviated by a different angle of Refraction. /

C. Reflection of each component light by different angle. \/
path “thl“ hos

difﬁ yen! n/mc,h've Pndf,;

D. Reflection of each component light by same angle.

R
0
Y
G
b
/

Y
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The dispersion of light into its components by prism is due to

A. Each component gets deviated by the same angle of Refraction.

B. Each component gets deviated by a different angle of Refraction.

C. Reflection of each component light by different angle.

D. Reflection of each component light by same angle.
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EXAMS

The streaming of light beams coming
from the Sun through trees is said to
have suggested that light travels in
straight line. The particles on the path
of light beams are visible to us because

(a) dust particles in the air reflect
light into our eyes

(b) dust particles in the air scatter
light 1into our eyes

(c) dust particles in the air refract
- light into our eyes

(d) dust particles in the air polarize
light into our eyes
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EXAMS

The streaming of light beams coming
from the Sun through trees is said to
have suggested that light travels in
straight line. The particles on the path
of light beams are visible to us because

(a) dust particles in the air reflect
light into our eyes

(b) dust particles in the air scatter
light into our eyes

(c) dust particles in the air refract
- light into our eyes

(d) dust particles in the air polarize
light into our eyes

Answer: (B)
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When white light passes through a prism, it splits into its component
colours. This phenomenon is
A. Dispersion v/

B. Reflection

C. Spect
PEETEITNG band 01[ F tofours = Spectrum_

D. Refraction
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When white light passes through a prism, it splits into its component
colours. This phenomenon is

A. Dispersion

B. Reflection

C. Spectrum

D. Refraction
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Consider Lhe following statements about

| Which of the statements given above are
a microscope and a telescope

correct?
1. Both the eyepiece and the objective
of a microscope are convex lenses. /) | and 3 only

N

The focal length of the objective of a
telescope is larger than the focal (b) 1 and 4
length of its evepiece. v

. . fc) 2,3 and 4
3. The magnification of a telescope
increases .vmh tﬁc increase in focal (d) 1,2 and 3
length of its abjective, v/ /

4, The magnification of a microscope
increases with the increase in focal
length of its abjective. K \
/_} Vo D
[ + /’. 7
Uy ﬁ

<

fe
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Consider Lhe following statements about
a microscope and a telescope

1. Both the eyepicce and the objective
of a microscope are convex lenses.

2. The focal length of the objective of a
telescope is larger than the focal
length of its evepiece.

w

The magnification of a telescope
increases with the increase in focal
length of its abjective,

4, The magnification of a microscope
increases with the increase in focal
length of its abjective.

Answer: (D)

@

EXAMS

Which of the statements given above are
correct?

fa) 1 and 3 only
M) 1 and 4
fe) 2, 3 and 4

(d) 1,2 and 3
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The eyeball of A person has become slightly larger. What kind of lens
Should the person wear to correct the defect|in the vision caused by

This change in the size of the eyeball ?

A. Concave Lens maﬁc e
Convex Lens o v

B
C. Cylindrical Lens
D

. Plane Glass
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The eyeball of A person has become slightly larger. What kind of lens
Should the person wear to correct the defect in the vision caused by

This change in the size of the eyeball ?

A. Concave Lens
B. Convex Lens
C. Cylindrical Lens
D

. Plane Glass
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A Student Is Not Able To See The Blackboard Question When Seated At A

Distance Of 5 m From The Board. The Defect He Is Suffering From Is
A. Myopia

B. Presbyopia

C. Hypermetropia

D

. Astigmatism
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A Student Is Not Able To See The Blackboard Question When Seated At A

Distance Of 5 m From The Board. The Defect He Is Suffering From Is
A. Myopia

B. Presbyopia

C. Hypermetropia

D

. Astigmatism
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The phenomenon of rainbow formation by CDS - PYQ — 2024 - II
water droplets involves :

(a)  single refraction of sunlight Jo 0
[sper sy

(b)  one internal reflection of sunlight

(¢)  two internal reflections of sunlight

(d)  both refraction and internal reflection of ’)

sunlight
Re mc},'l\/
f " Tofal ?nfe N a/

4 “ﬂech"m ,
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EXAMS
The phenomenon of rainbow formation by CDS - PYQ — 2024 - I
water droplets involves :
(a)  single refraction of sunlight
(b)  one internal reflection of sunlight Heffagtion
(¢)  two internal reflections of sunlight rX,ﬁ'ﬁ;j “ﬁht Bispession
_ e Sun
. . o
(d)  both refraction and internal reflection of
sunlight Rain ’Il;oégli ir:it:;n(;zfl
Drop spectrum

Refraction

Ans: (d)
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Which of the following statements for persons
suffering from presbyopia is/are correct ?

1. They cannot distinguish colours. X

2. It usually develops with ageing, ——— \/

CDS - PYQ - 2024 - 1l

3. They wear either bi-focal lenses J

consisting of both concave and convex
lenses or progressive lenses.
Select the answer using the code given below :

(a) 1lonly
(b) 2 only
(¢) land3

(d) 2Zand3

EXAMS
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Which of the following statements for persons

suffering from presbyopia is/are correct ?

1. They cannot distinguish colours.

2. It usually develops with ageing.

3. They wear either bi-focal lenses
consisting of both concave and convex
lenses or progressive lenses.

Select the answer using the code given below :

(a) 1only
(b) 2 only
(c) land3
(d) 2and3

Ans: (d)

CDS - PYQ - 2024 - 1l

Single vision Lense

distance

OR

Trifocal Lense

distance
intermediate

rear

Bifocal Lense

Progressive Lense

@

EXAMS
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Which one among the following is
correct for a person suffering from
myopia ?

(a) The person can see near objects
clearly

(b) The person can see distant objects
clearly

(c) The person cannot distinguish
colours

(d) The person can neither see near
objects nor distant objects clearly

NDA - PYQ - 2024 - I

EXAMS
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Which one among the following is
correct for a person suffering from
myopia ?

(a) The person can see near objects
clearly

(b) The person can see distant objects
clearly

(c) The person cannot distinguish
colours

(d) The person can neither see near
objects nor distant objects clearly

Answer: (A)

NDA - PYQ - 2024 - I

@

EXAMS
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The human eye is like a camera that has a

lens with :

(a) fixed focal length and fixed aperture
size.

(b)  variable focal length and fixed aperture
size.

(c) fixed focal length and variable aperture
size.

(d) variable focal length and variable
aperture size.

e

NDA - PYQ -2024 - |

A/Je riures

EXAMS
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The human eye is like a camera that has a

lens with :
(a) fixed focal length and fixed aperture
size.

(b)  variable focal length and fixed aperture
size.

(c) fixed focal length and variable aperture
size.

(d) variable focal
aperture size.

length and variable

EXAMS

Ciliary
muscles

Ciliary

muscles T y v .

relaxed, The eye accommodates  onracted,
fibers taut, for close vision by i)

lens at : - slack, lens
minimum tightening the ciliary  roundsto
strength for . greater
distant HH!‘.‘;’('!E’.‘&', f{'”(”i-‘.‘”tﬂ the strength for
vision. close vision.

pliable crystalline lens
to become more rounded.

Distant Close

Vision

¥/ Light rays from distant 'L'i.g.ht rays from close

The pupil (appearing as a black hole) of the eye is its
aperture and the iris is its diaphragm. In humans, the
pupil can constrict to as small as 2 mm (f/8.3) and dilate
to larger than 8 mm (f/2.1) in some individuals.

ANS : D

objects are nearly
parallel and don't need
as much refraction to
bring them to a focus.

objects diverge and
require more
refraction for
focusing.
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EXAMS

Which of the following is mot a part of

compound microscope ?

PYQ-2024 -1

(a) Mirror
(b) Stage
(c) Clip
(d) Retina
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Which of the following is mot a part of

compound microscope ?

(a) Mirror

(b) Stage
(c) Clip
(d) Retina

ANS :D

+— Eve piece

Body tube

Course adjustment

knob Mose piece

Fine adjusiment
SCroW

Handle —

hirror

@

EXAMS
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A microscope may be a combination of :
(a) two convex lenses. v~

(b) aconvex and a concave lens.

(c) two concave lenses.

(d) a convex lens and a convex mirror.

PYQ-2024 -1

EXAMS
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EXAMS

A microscope may be a combination of : PYQ - 2024 - |

(a) two convex lenses.

(b) aconvex and a concave lens.

(c) two concave lenses. = u—die/ —;
=0 b
(d) aconvex lens and a convex mirror. hl, il ) B | Kyeplece é‘@
B: B n «

Objective
LS

o
- - - -

ANS : A
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For a human eye, where u is the distance of an object from the eye, f is the

focal length of the lens and v is the distance of image from the eye, which is

the correct schematic graph ?

(a)

(b)

ut
%f_,.

(e)

(d)

PYQ-2024 -1

- 1L _ L
Y u

i3
f

y it afwadg oonsfort
and dou noT chang Wifh 4 off.
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For a human eye, where u is the distance of an object from the eye, f is the

focal length of the lens and v is the distance of image from the eye, which is
the correct schematic graph ?

PYQ-2024 -1

(a)

i
(e f
u
(b) (d) v I;
v

ANS : C
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EXAMS

Which of the following statements with regard  Gelect the answer using the code given below :
to the phenomenon of the primary

rainbow formation by water droplets is/are (a) 1 only

correct ?
®) 1and3 v~
1. It involves refraction and one internal
reflection of sunlight. J (¢) 3and4 o(
2. It involves refraction of sunlight only. (d 2and3 0(

3. It is formed as the inner bow. v/

4. It may involve more than one internal
reflection as well as refraction of
sunlight.

PYQ-2024 -1
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Which of the following statements with regard Qglect the answer using the code given below :
to the phenomenon of the primary

rainbow formation by water droplets is/are (a) 1 only

correct ?
(b) 1land3
1. It involves refraction and one internal
reflection of sunlight. (¢ 3and4 ST

2. It involves refraction of sunlight only. (d 2and3
3. It is formed as the inner bow.
4. It may involve more than one internal reflected rays

reflection as well as refraction of
sunlight.

PYQ-2024 -1

ANS : B

Primary Secondary
Rainbow Rainbow

[@i=]

raindrop
secondary rainbow

p
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